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ar+by+cz=r(a+b+c)

cy+bz=aR,
az+ cx = bR,
bx + ay = cR.
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a+p+v= LI sina + sin 8+ siny > 1.

2

n n n
ar > 0, Zak <7 = sin (Z ak) < Zsinak.
k=1 k=1

k=1

ERDHVARHES:

e 1
/ \/1—x2dw:—<£—cos_1a)—|—% 1—a?
1

2

1

= /\/l—azmzdm:2—sin_1am+§\/1—a2m2+0
a
1

= /\/1 +a2zx?2dx = 2—sinh_1 ar + %\/1 +a222 4+ C
a

A
038
06
g f
04
9}
2 1 -08 -06 -04 -02 O 0 1
-02
S04
-0
-08

A

2 0.4 0.6 08
02 0.4 06 [if:)

g




eiw + efiw ei:c o efi:c 1 eiav o efi:c

= ———— in = = —-———
cos 2 , Ssinz 9 , tanz Py
T —T x —T x —Z
e’ t+e ) e’ —e e’ —e
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cosix = coshz, siniz = isinh z, taniz = itanhz,
coshix = cosz, sinhiz = isinz, tanhiz = itanz.
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—x
arccosz = iarchz, arcsiniz = iarshx, arctanix = iarthz,
arccos iz = iarchizx, arshiz = iarcsinz, arthiz = iarctanz.

Va2 + 02 +vVa2+ 2+ Vb +c2>V2(a+b+c).
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